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FREEEAYMEANLER (S5 FEE48Ay) MG I, SHERR O EBRRERALETY,

HHE% i{u (FED %%%

EOEBIS kg 970.00 |7 U —L7 7 v & (¥F)
A, kg 1,368.00 | (]p) =>4 7
H b [FHE] kg 980.00 |7V —L77v bt (%)
MICEBRN FIFZ kg 1,369.00 |F#1A ()
BHE(E] kg 801.97 | v/ s 7 —F ()
Efz3 -2 b (18H)100g 1 5440 | (k) =~ L7
Y vL(1&F)20g 1@ 1776 |2V —L7 7w & ()
|5 1.2kg EiS 980.00 |7V —L7 7w b (¥)
22L& [#E%E]100g 1% 478.00 | (%) =~ L7
L fLbAL—(1EFA)100g 18 7884 |7V —LT7 7y b (KR)
AULAIFATKE[L R ] kg 836.58 | (#) =+ L3

FAE[L L K] kg 357.00 | (%) => L7
= #A kg 338.00 | (¥k) =~ L7
BUWAITATA—Z k[LAH] kg 715302 U —L77 v b (%)
Ok ZEAEIRDEFEY] kg 82998 |7 U—L77v b (#)
ELLYXE[EZE/Ny 7] kg 947.16 | (#k) =+ L7
FCAHFANE [L b H] kg 1,678.40 | (Kk) =~ L5
FCAHR—TF [L L] kg 1,354.00 | (]k) =>4 7

29 niikE g [MEF] 15.56 | A (#R)

(/) r—a—y 75499 | (Bk) =vL3F

(FB) 734 > [/e] 1,098.00 | (%) => L=

&
5
() #HA i 1,449.00 |FHRA (¥F)
5
i

F~bE2—L[3kg] 1,379.97 |2V —L 77 v + (¥)

17— X (1&8H)15g 1@ 33.00|2U—L77v kb ()
BF—X[Fe- Cal(1&H)15¢ 1@ 3748 | (Bk) =~ L7

(GA) #E#E3— 2L h500g PN 260.00 | () => L7
HREEW [Hy ] kg 844407 ) —L77v b (B)
EREB[£4 2] kg 1,369.90 |7 U—L7 7 v b ()
ERH kg 70197 |7V —L7 7w b (¥R)
RE7L—7 [5TE] kg 2,000.00 | () => L7
P1F L AR kg 1,558.00 |iiA ()

(#) E<HIFE Y] kg 2247.00 |2 U —L77v b (%)
EFL kg 2,559.98 | () => L7
HLYBHAWY ZBRE kg 9,800.00 | (%) =>L7F
EFLH kg 2,459.00 | (#k) =~ L7
OB [72LA] kg 343895 |7 U—L77v b ()
HOBE [FMRYA] kg 4447870V —L77v b (F)

H LB kg 2,826.90 | (Kk) =~ L7
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FRIGR A
a BALER (SMSEELRD)  iten BRRROUAERRESALATT

mB# T 2 Ok ok L] .
(8) b (F3) &%
&) Z0L= ke | 737200 2 U—L77v F ()
BB EE (2] ke | 6,449.98| (%) =~ L5
it ) (12MA)1g kg 334753 |2 U —L 77y b (#)
X XBEDY (318) (i 1056 [ v/ 7—F (%)
() Hbx kg 8,057.00 | () =+ L5
LZ0 L &MEFe) [GHE] tg 7,887.00 | (Kk) = L7
gt [Ea](188)30g { 1,308.00 | () =+ L5
et (a7 L](188)30g = 3997 [P v v T—F ()
(%) FiELL»bH12g = 4199 [ v/ <o 7—F ()
CRNZETWA[EAF]I30 g = 15.00 |44 (%)
A) LEZC (L] 53.40 | (]) =~ L7
(%) Z095503g : 147700 | )
B) EhoYiF40g = 86.40 @k) N
) BRTGE20020¢g = 4848 | wisvy 7 — K (%)
(A) £ <CAMAY) 3749 | vy 7 — K (%)
%) KEYIE50g : 1,990.00 [t (1)
(A) ShoUH50g 6059 [ () =245
(4) S1EWE50¢ fe 5161 5w o T—F (&)
B) TIEYH60¢g 1 5860 |7V —L77 vk ()
(5) Mnb LEEERE k 69.69 [ v/ sv 77— K (1)
(8) =54 0¢ g 1,615.99 | v /s> 7 — K ()
(%) 7 51 FHT R E] L mal o) —os
(3) 15 NAER—IL] kg 417.00 | (#8) =~ L7
(%) K—Ia—v g 599.70 | (k) =+ L%
SIETIETD kg 404.04 [ v io T —F ()
(5 HELEE kg 364.49 | v /v 7 —F ()
SERYEED ¢ | 41800 ) =43
A 7owval)— kg 1,295.46 | (%) =~ L7
SED: kg 632.00 | (%) =v L3
%) LEVE Y —(18H)40g :‘ 359.00 (\;f;ﬁ) BV
) LEVALY —[EHE] ; w21l v s 7—F (%)
(4)REEEE A ] kg 8560017V - L7 7> b ()
) BRI L /N — g | L779.00| (%) =¥ L7
A) =I2%ME6 08 ke | 144400 () =>4
BV EE > —7 [Ca Fol 60 18 12200 |ov o T —F &)
(A) 7L—>HLL Y60 : a 6890 ) —~47
SICEEEEPY TR g & 64.96 [ v/sv7—F ()
g 1@ 3698|270 —L7 7y F ()
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FREEEAYMEANLER (S5 FEE48Ay) MR, SHERR U EERESALETT,

mB%# Bifi RS EEH
()

(%) SIEFEREL O0g 1@ 7970\ 2V—L 77w b (¥)

(%) eLAVIE] 30¢ 1l 73.00 |7V —L77 vk ()
#IEED — 2/ L (BmmAT{R) kg 2,864.99 | () =~ L5
HIgE~N—O v kg 2,768.99 | (k) =~ L7
BIEER—0 74 v F— [FE] kg 2,543.99 | (k) => L7
EEERBA kg 878.00 | (#k) lx7Hnh
EEERLLH kg 1,024.00 JA2EI -+ 7—XH)
EEEBIIEN kg 996.00 | (#%) ld7Hh
EEERIVTFH kg 1,607.00 | (%) ldksh
WMAEBLLA kg 1,300.00 | (#%) 1xZsEh
MAEBHHAYIN[40gEtE] kg 1,771.00 | (%0 a3k sh
EE4EHN kg 2,407.00 | (#) 1d%Eh
EEFHLH kg 2,234.00 | (%) l3tsh
BYFEA kg 1,966.00 | (#k) &% &h
BYFELHH kg 1,832.00 | (]p) ldtsh
BOFREO—RA kg 1,988.00 | (#k) 1&#s&h
EERKBAN kg 1,129.00 JA2E I — + 7 — X
EEEKL LA kg 1,038.00 [JAZE I — + 7 — X
FIL R ERERINERNE] kg 601.00 | (¥k) ~/LH >~

(%) BERI kg 819.00 | (%) =~ L7
BHI25kg & 7,454.00 | () => L3
Kk kg 41390 (k) =~ L7
I—VRR—F kg 328.90 | (k) = L7




